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Coefficients for Chardonnay, Carneros, CA 2003 (CH01) vs Chardonnay, Carneros, CA 2003 (CH02) Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH01) vs Chardonnay, Carneros, CA 2003 (CH02) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH01) vs Chardonnay, Carneros, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH01) vs Chardonnay, Carneros, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH01) vs Chardonnay, Monterey, CA 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH01) vs Chardonnay, Monterey, CA 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH01) vs Chardonnay, Napa, CA 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH01) vs Chardonnay, SE Australia, 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH01) vs Chardonnay, SE Australia, 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH01) vs Elevage Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH01) vs Elevage Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH01) vs Fume Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH01) vs Fume Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH01) vs Pinot gris, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH01) vs Pinot gris, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )



0.0000 0.0005 0.0010 0.0015 0.0020

−
4e

−
04

−
2e

−
04

0e
+

00
2e

−
04

L1 Norm

C
oe

ffi
ci

en
ts

0 24 27 29 31

Coefficients for Chardonnay, Carneros, CA 2003 (CH01) vs Pinot gris, Oregon 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH01) vs Pinot gris, Oregon 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH01) vs Riesling, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )



−4 −3 −2 −1 0

0.
0

0.
5

1.
0

1.
5

log(Lambda)

B
in

om
ia

l D
ev

ia
nc

e

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●
●

●
●

●
●

●
●

●
●

●
●

●
●

●
●

●
●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●

34 33 33 32 31 31 31 30 30 29 29 29 29 27 27 27 26 25 24 24 24 23 22 22 22 22 21 19 16 16 12 12 8 4

Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH01) vs Riesling, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH01) vs Riesling, Finger Lakes, NY 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH01) vs Riesling, Finger Lakes, NY 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH01) vs Sauvignon Blanc, Lake County, CA 2001 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH01) vs Sauvignon Blanc, Lake County, CA 2001 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH01) vs Sauvignon Blanc, Napa, CA 2004 (SB03) Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH01) vs Sauvignon Blanc, Napa, CA 2004 (SB03) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH01) vs Sauvignon Blanc, Napa, CA 2004 (SB04) Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH01) vs Sauvignon Blanc, Napa, CA 2004 (SB04) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH01) vs Viognier, Dunnigan Hills, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH01) vs Viognier, Dunnigan Hills, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH01) vs Viognier, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH01) vs Viognier, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH02) vs Chardonnay, Carneros, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH02) vs Chardonnay, Carneros, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH02) vs Chardonnay, Monterey, CA 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH02) vs Chardonnay, Monterey, CA 2003 Based on Elastic Net Penalty ( alpha = 0.5 )



0.0000 0.0005 0.0010 0.0015

−
2e

−
04

−
1e

−
04

0e
+

00
1e

−
04

2e
−

04
3e

−
04

L1 Norm

C
oe

ffi
ci

en
ts

0 21 27 27

Coefficients for Chardonnay, Carneros, CA 2003 (CH02) vs Chardonnay, Napa, CA 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH02) vs Chardonnay, Napa, CA 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH02) vs Chardonnay, SE Australia, 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH02) vs Chardonnay, SE Australia, 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH02) vs Elevage Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH02) vs Elevage Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH02) vs Fume Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH02) vs Fume Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH02) vs Pinot gris, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )



−4 −3 −2 −1 0

0.
0

0.
5

1.
0

1.
5

log(Lambda)

B
in

om
ia

l D
ev

ia
nc

e

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●
●

●
●

●
●

●
●

●
●

●
●

●
●

●
●

●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●

39 39 39 39 39 39 39 39 39 39 37 37 36 36 36 36 36 36 35 35 33 33 33 30 29 29 28 27 27 25 23 19 12 0

Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH02) vs Pinot gris, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH02) vs Pinot gris, Oregon 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH02) vs Pinot gris, Oregon 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH02) vs Riesling, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH02) vs Riesling, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH02) vs Riesling, Finger Lakes, NY 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH02) vs Riesling, Finger Lakes, NY 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH02) vs Sauvignon Blanc, Lake County, CA 2001 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH02) vs Sauvignon Blanc, Lake County, CA 2001 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH02) vs Sauvignon Blanc, Napa, CA 2004 (SB03) Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH02) vs Sauvignon Blanc, Napa, CA 2004 (SB03) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH02) vs Sauvignon Blanc, Napa, CA 2004 (SB04) Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH02) vs Sauvignon Blanc, Napa, CA 2004 (SB04) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2003 (CH02) vs Viognier, Dunnigan Hills, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH02) vs Viognier, Dunnigan Hills, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )



0.0000 0.0002 0.0004 0.0006 0.0008 0.0010 0.0012

−
2e

−
04

−
1e

−
04

0e
+

00
1e

−
04

L1 Norm

C
oe

ffi
ci

en
ts

0 33 35 36 36 37 38

Coefficients for Chardonnay, Carneros, CA 2003 (CH02) vs Viognier, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2003 (CH02) vs Viognier, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2004 vs Chardonnay, Monterey, CA 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2004 vs Chardonnay, Monterey, CA 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2004 vs Chardonnay, Napa, CA 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2004 vs Chardonnay, Napa, CA 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2004 vs Chardonnay, SE Australia, 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2004 vs Elevage Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2004 vs Fume Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2004 vs Pinot gris, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2004 vs Pinot gris, Oregon 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2004 vs Riesling, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2004 vs Riesling, Finger Lakes, NY 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2004 vs Sauvignon Blanc, Lake County, CA 2001 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2004 vs Sauvignon Blanc, Napa, CA 2004 (SB03) Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2004 vs Sauvignon Blanc, Napa, CA 2004 (SB03) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2004 vs Sauvignon Blanc, Napa, CA 2004 (SB04) Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2004 vs Sauvignon Blanc, Napa, CA 2004 (SB04) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2004 vs Viognier, Dunnigan Hills, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Carneros, CA 2004 vs Viognier, Dunnigan Hills, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Carneros, CA 2004 vs Viognier, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Monterey, CA 2003 vs Chardonnay, Napa, CA 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Monterey, CA 2003 vs Chardonnay, SE Australia, 2004 Based on Elastic Net Penalty ( alpha = 0.5 )



−4 −3 −2 −1 0

0.
0

0.
5

1.
0

1.
5

log(Lambda)

B
in

om
ia

l D
ev

ia
nc

e

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●
●

●
●

●
●

●
●

●
●

●
●

●
●

●
●

●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●

34 34 34 34 33 32 32 32 32 31 31 31 31 31 31 30 29 27 27 26 25 25 25 24 23 22 22 21 21 20 19 15 9 3

Cross−Varidation Results for Chardonnay, Monterey, CA 2003 vs Chardonnay, SE Australia, 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Monterey, CA 2003 vs Elevage Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Monterey, CA 2003 vs Elevage Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )



0e+00 2e−04 4e−04 6e−04 8e−04 1e−03

−
0.

00
01

5
−

0.
00

01
0

−
0.

00
00

5
0.

00
00

0
0.

00
00

5
0.

00
01

0
0.

00
01

5

L1 Norm

C
oe

ffi
ci

en
ts

0 29 34 36 37 38

Coefficients for Chardonnay, Monterey, CA 2003 vs Fume Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Monterey, CA 2003 vs Pinot gris, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Monterey, CA 2003 vs Pinot gris, Oregon 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Monterey, CA 2003 vs Riesling, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Monterey, CA 2003 vs Riesling, Finger Lakes, NY 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Monterey, CA 2003 vs Sauvignon Blanc, Lake County, CA 2001 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Monterey, CA 2003 vs Sauvignon Blanc, Napa, CA 2004 (SB03) Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Monterey, CA 2003 vs Sauvignon Blanc, Napa, CA 2004 (SB03) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Monterey, CA 2003 vs Sauvignon Blanc, Napa, CA 2004 (SB04) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Monterey, CA 2003 vs Viognier, Dunnigan Hills, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Monterey, CA 2003 vs Viognier, Dunnigan Hills, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Monterey, CA 2003 vs Viognier, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Napa, CA 2003 vs Chardonnay, SE Australia, 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Napa, CA 2003 vs Chardonnay, SE Australia, 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Napa, CA 2003 vs Elevage Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Napa, CA 2003 vs Elevage Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Napa, CA 2003 vs Fume Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Napa, CA 2003 vs Fume Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Napa, CA 2003 vs Pinot gris, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Napa, CA 2003 vs Pinot gris, Oregon 2003 Based on Elastic Net Penalty ( alpha = 0.5 )



−4 −3 −2 −1 0

0.
0

0.
5

1.
0

1.
5

log(Lambda)

B
in

om
ia

l D
ev

ia
nc

e

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●
●

●
●

●
●

●
●

●
●

●
●

●
●

●
●

●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●

36 36 34 34 34 34 34 34 34 33 32 32 31 31 31 30 30 30 29 29 29 29 29 28 28 27 27 26 24 21 20 14 14 0

Cross−Varidation Results for Chardonnay, Napa, CA 2003 vs Pinot gris, Oregon 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Napa, CA 2003 vs Riesling, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Napa, CA 2003 vs Riesling, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Napa, CA 2003 vs Riesling, Finger Lakes, NY 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Napa, CA 2003 vs Riesling, Finger Lakes, NY 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Napa, CA 2003 vs Sauvignon Blanc, Lake County, CA 2001 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Napa, CA 2003 vs Sauvignon Blanc, Lake County, CA 2001 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Napa, CA 2003 vs Sauvignon Blanc, Napa, CA 2004 (SB03) Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Napa, CA 2003 vs Sauvignon Blanc, Napa, CA 2004 (SB03) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Napa, CA 2003 vs Sauvignon Blanc, Napa, CA 2004 (SB04) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Napa, CA 2003 vs Viognier, Dunnigan Hills, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, Napa, CA 2003 vs Viognier, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, Napa, CA 2003 vs Viognier, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, SE Australia, 2004 vs Elevage Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, SE Australia, 2004 vs Fume Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, SE Australia, 2004 vs Pinot gris, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, SE Australia, 2004 vs Pinot gris, Oregon 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, SE Australia, 2004 vs Pinot gris, Oregon 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, SE Australia, 2004 vs Riesling, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, SE Australia, 2004 vs Riesling, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, SE Australia, 2004 vs Riesling, Finger Lakes, NY 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, SE Australia, 2004 vs Riesling, Finger Lakes, NY 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, SE Australia, 2004 vs Sauvignon Blanc, Lake County, CA 2001 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, SE Australia, 2004 vs Sauvignon Blanc, Lake County, CA 2001 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, SE Australia, 2004 vs Sauvignon Blanc, Napa, CA 2004 (SB03) Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, SE Australia, 2004 vs Sauvignon Blanc, Napa, CA 2004 (SB03) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, SE Australia, 2004 vs Sauvignon Blanc, Napa, CA 2004 (SB04) Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, SE Australia, 2004 vs Sauvignon Blanc, Napa, CA 2004 (SB04) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, SE Australia, 2004 vs Viognier, Dunnigan Hills, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Chardonnay, SE Australia, 2004 vs Viognier, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Chardonnay, SE Australia, 2004 vs Viognier, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Elevage Blanc, Napa, CA 2004 vs Fume Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Elevage Blanc, Napa, CA 2004 vs Fume Blanc, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Elevage Blanc, Napa, CA 2004 vs Pinot gris, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Elevage Blanc, Napa, CA 2004 vs Pinot gris, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Elevage Blanc, Napa, CA 2004 vs Pinot gris, Oregon 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Elevage Blanc, Napa, CA 2004 vs Pinot gris, Oregon 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Elevage Blanc, Napa, CA 2004 vs Riesling, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Elevage Blanc, Napa, CA 2004 vs Riesling, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Elevage Blanc, Napa, CA 2004 vs Riesling, Finger Lakes, NY 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Elevage Blanc, Napa, CA 2004 vs Sauvignon Blanc, Lake County, CA 2001 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Elevage Blanc, Napa, CA 2004 vs Sauvignon Blanc, Napa, CA 2004 (SB03) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Elevage Blanc, Napa, CA 2004 vs Sauvignon Blanc, Napa, CA 2004 (SB04) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Elevage Blanc, Napa, CA 2004 vs Viognier, Dunnigan Hills, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Elevage Blanc, Napa, CA 2004 vs Viognier, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Fume Blanc, Napa, CA 2004 vs Pinot gris, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Fume Blanc, Napa, CA 2004 vs Pinot gris, Oregon 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Fume Blanc, Napa, CA 2004 vs Riesling, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Fume Blanc, Napa, CA 2004 vs Riesling, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Fume Blanc, Napa, CA 2004 vs Riesling, Finger Lakes, NY 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Fume Blanc, Napa, CA 2004 vs Riesling, Finger Lakes, NY 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Fume Blanc, Napa, CA 2004 vs Sauvignon Blanc, Lake County, CA 2001 Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Fume Blanc, Napa, CA 2004 vs Sauvignon Blanc, Lake County, CA 2001 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Fume Blanc, Napa, CA 2004 vs Sauvignon Blanc, Napa, CA 2004 (SB03) Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Fume Blanc, Napa, CA 2004 vs Sauvignon Blanc, Napa, CA 2004 (SB03) Based on Elastic Net Penalty ( alpha = 0.5 )



0.0000 0.0005 0.0010 0.0015

0e
+

00
2e

−
04

4e
−

04
6e

−
04

L1 Norm

C
oe

ffi
ci

en
ts

0 17 25 28

Coefficients for Fume Blanc, Napa, CA 2004 vs Sauvignon Blanc, Napa, CA 2004 (SB04) Based on Elastic Net Penalty ( alpha = 0.5 )
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Cross−Varidation Results for Fume Blanc, Napa, CA 2004 vs Sauvignon Blanc, Napa, CA 2004 (SB04) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Fume Blanc, Napa, CA 2004 vs Viognier, Dunnigan Hills, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Fume Blanc, Napa, CA 2004 vs Viognier, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Pinot gris, Napa, CA 2004 vs Pinot gris, Oregon 2003 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Pinot gris, Napa, CA 2004 vs Riesling, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Pinot gris, Napa, CA 2004 vs Riesling, Finger Lakes, NY 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Pinot gris, Napa, CA 2004 vs Sauvignon Blanc, Lake County, CA 2001 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Pinot gris, Napa, CA 2004 vs Sauvignon Blanc, Napa, CA 2004 (SB03) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Pinot gris, Napa, CA 2004 vs Sauvignon Blanc, Napa, CA 2004 (SB04) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Pinot gris, Napa, CA 2004 vs Viognier, Dunnigan Hills, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Pinot gris, Napa, CA 2004 vs Viognier, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Pinot gris, Oregon 2003 vs Riesling, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Pinot gris, Oregon 2003 vs Riesling, Finger Lakes, NY 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Pinot gris, Oregon 2003 vs Sauvignon Blanc, Lake County, CA 2001 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Pinot gris, Oregon 2003 vs Sauvignon Blanc, Napa, CA 2004 (SB03) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Pinot gris, Oregon 2003 vs Sauvignon Blanc, Napa, CA 2004 (SB04) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Pinot gris, Oregon 2003 vs Viognier, Dunnigan Hills, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Pinot gris, Oregon 2003 vs Viognier, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Riesling, CA 2004 vs Riesling, Finger Lakes, NY 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Riesling, CA 2004 vs Sauvignon Blanc, Lake County, CA 2001 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Riesling, CA 2004 vs Sauvignon Blanc, Napa, CA 2004 (SB03) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Riesling, CA 2004 vs Sauvignon Blanc, Napa, CA 2004 (SB04) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Riesling, CA 2004 vs Viognier, Dunnigan Hills, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Riesling, CA 2004 vs Viognier, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Riesling, Finger Lakes, NY 2004 vs Sauvignon Blanc, Lake County, CA 2001 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Riesling, Finger Lakes, NY 2004 vs Sauvignon Blanc, Napa, CA 2004 (SB03) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Riesling, Finger Lakes, NY 2004 vs Sauvignon Blanc, Napa, CA 2004 (SB04) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Riesling, Finger Lakes, NY 2004 vs Viognier, Dunnigan Hills, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Riesling, Finger Lakes, NY 2004 vs Viognier, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Sauvignon Blanc, Lake County, CA 2001 vs Sauvignon Blanc, Napa, CA 2004 (SB03) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Sauvignon Blanc, Lake County, CA 2001 vs Sauvignon Blanc, Napa, CA 2004 (SB04) Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Sauvignon Blanc, Lake County, CA 2001 vs Viognier, Dunnigan Hills, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )



−4 −3 −2 −1 0

0.
0

0.
5

1.
0

1.
5

log(Lambda)

B
in

om
ia

l D
ev

ia
nc

e

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●
●

●
●

●
●

●
●

●
●

●
●

●
●

●
●

●
●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●

34 34 34 33 33 33 32 31 31 31 30 30 30 30 29 28 28 27 26 26 26 26 25 24 23 23 22 21 19 17 16 11 10 0
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Coefficients for Sauvignon Blanc, Lake County, CA 2001 vs Viognier, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Sauvignon Blanc, Napa, CA 2004 (SB03) vs Sauvignon Blanc, Napa, CA 2004 (SB04) Based on Elastic Net Penalty ( alpha = 0.5 )
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0e+00 2e−04 4e−04 6e−04 8e−04 1e−03

−
0.

00
01

5
−

0.
00

01
0

−
0.

00
00

5
0.

00
00

0
0.

00
00

5

L1 Norm

C
oe

ffi
ci

en
ts

0 28 30 31 31 34

Coefficients for Sauvignon Blanc, Napa, CA 2004 (SB03) vs Viognier, Dunnigan Hills, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Sauvignon Blanc, Napa, CA 2004 (SB03) vs Viognier, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Sauvignon Blanc, Napa, CA 2004 (SB04) vs Viognier, Dunnigan Hills, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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Coefficients for Sauvignon Blanc, Napa, CA 2004 (SB04) vs Viognier, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )



−4 −3 −2 −1 0

0.
0

0.
5

1.
0

1.
5

log(Lambda)

B
in

om
ia

l D
ev

ia
nc

e

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●
●

●
●

●
●

●
●

●
●

●
●

●
●

●
●

●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●

30 30 30 30 30 30 30 30 30 30 29 29 29 29 29 29 28 28 28 28 27 27 27 26 26 26 26 25 22 21 20 19 11 0

Cross−Varidation Results for Sauvignon Blanc, Napa, CA 2004 (SB04) vs Viognier, Napa, CA 2004 Based on Elastic Net Penalty ( alpha = 0.5 )
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